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94-0 # elementary events is a power of 2
¥5 ↳ 17--1
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9. 56 Pools of causes
W = population of patient
A : disease -11 A={✗c-W/ ✗ has A- }
B : " I
C : some other disease :[
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10.60 ✗ r.r.
X :R→1R
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a c-R

2 -2m . Pca)=mEPCa)=m
aer

aeryn
✓

-

✗ := - ✗ reduces

more question tonein question

A)isitp.me#-m---ExM?

YES q?⇒¥÷q EH)=m=0
= < 17=1



10.68 mismatched envelopes

n letters → n ☒

✗ :# letters in correct ☒
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6. 175 Bcn ) = # partitions of In]
(a) Bcn) shh surjective

④ Bln) In ! injective

F:[n] * {partitions oftñ}
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